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SAMTHMUHUXIAH ALHXEE MIRQS
50,000& = 123 600
SAMTHMUHUR 2FHAAIE SXE=H 5,000
202 044l 3,888 0 3,888
01 = LH o4 1l 3,888 0 3,888
O AMHEHUHX 2 SEF& ]
81,000& = 2 * 2& * 123l 3,888




A LXelE M
X MUXIE HE - 25

1]
m

S UX =22l (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
TAIEHI &R 365,360 198,240 167,120
J| 114,912
Al 250,448
01 A& HI 355,360 193,858 161,502
OEHHAl 221 A EHYZ YHEAIE HXI(9%
kW) 255,360
J| 114,912
Al 140,448
OHAl 2L 22E & 3 HOIESH EH
& Z& HHl X 100,000
02 Zeltl 10,000 4,382 5,618
OHAl 2L 22 & & HOIESH EH
& 2& ZHl X 10,000
MBS JtAANE WA 49,245 48,200 1,045
= 39,396
< 2,955
Al 6,894
403 X SHHSA=0l& 49,245 48,200 1,045
= 39,396
< 2,955
Al 6,894
02 SO 2SOICHSH A2 X 2 & A I 49,245 48,200 1,045
OMB S JtAAA HE AL 49,245
= 39,396
< 2,955
Al 6,894
NASE 2 AMSISXALE LEDS nM(ddas & 143,000 249,000 A 106,000
M)
J| 81,300
< 12,870
Al 48,830
401 Al HIRK 201 I 94,000 158,000 A 64,000
J| 47,000
< 8,460
Al 38,540
01 A& HI 94,000 158,000 A 64,000
O=XAIE LEDS WHALZ 94,000
J| 47,000
< 8,460
Al 38,540
403 MHXISHHE X201 & 49,000 91,000 A 42,000
J| 34,300
< 4,410
Al 10,290
02 SO 2SUHHEAER 2 E AL 49,000 91,000 A 42,000
ONMASES LEDZY WAL 49,000
J| 34,300




M LXelZ ot

S UXN KR i - 232
Eelr X ==2el (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 4,410
Al 10,290
EBEAHESAANNHANE 2 =& 972 972 0
202 O4dl 972 972 0
01 = LHA YI 972 972 0
OEtAIEa HRF2 ol
81,000& = 198 = 2 « 63l 972
ATH A0 LA Xl =R & A 17,800 184,200 A 166,400
= 5,340
Al 12,460
402 RI2HXt20l ™ 17,800 79,200 261,400
< 5,340
Al 12,460
02 QI 2 A EZ(OI X TH ) 17,800 79,200 261,400
OAITHA Ol L Xl ==EXI & ALY 17,800
o 1,300,000& * 6Jt+ 7,800
< 2,340
Al 5,460
cEHYd 2,500,000& = 40t 10,000
< 3,000
Al 7,000
NBIE JtAAAE HE(ZHIEX) 10,122 13,934 23,812
< 2,453
Al 7,669
202 O4dl 1,944 1,944 0
01 = LH 4 Hi 1,944 1,944 0
ONAAE 2UHXNE EE 92FA
81,000& = 38 = 2 « 43| 1,944
403 Ut SHHS =0l & 8,178 11,990 23,812
< 2,453
Al 5,725
02 SO 2SOCHsH 2 X 2 A I 8,178 11,990 A 3,812
OMASE 108 I3 JIAAE (B0 =) X
2 8,178
< 2,453
Al 5,725
sSHE LPGAEMEEYE I AMEEXH X& 374,380 0 374,380
< 150,000
Al 224,380
402 QI2H X201 M 374,380 0 374,380
= 150,000
Al 224,380
02 QI 2 A EZ(OI X TH ) 374,380 0 374,380
OsSHELPGAE MNEHIANLE &EXIHIXR 374,380
< 150,000




M LXelZ ot

MM UK AE Y - 2522
2 X == 22 CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 224,380
OIIE &&)| dEMMEX 23 ALY 3,528 0 3,528
403 XX SHHS K201 & 3,528 0 3,528
02 Z2I)|2SoUeHI =X E A HI 3,528 0 3,528
OO0HIIE &) dEMMEI BSALY 3,528
HE=SHAL (LRI ZHMD) 69,413 58,703 10,710
ol 2 HH| 28,929 26,771 2,158
ol =AY 28,929 26,771 2,158
101 @121 H| 28,929 26,771 2,158
03 RIHLZZXHE = 28,929 26,771 2,158
OFGaGA 22X B4 28,929
oJl23(hse) 1,290,770 = 1¥€ ~ 12& 15,490
oAt 2 1,290,770& = 18 = 400% 5,164
S N e N e e 100,0008 = 1¥€  12& 1,200
o M FAY| 120,000& * 1¥ = 128 1,440
oDl E 100,000& * 1¥ = 12& 1,200
o JIAH B Xl 30,000& * 1 = 128 360
o X4 70,000 « 1 = 12&€ 840
clIExE 20,000& = 1€ = 128 240
o HAEF Y| 1,290,770 = 18 x 120% 1,549
oclIRasEIIxZ 80,320& *~ 1 x 18 1,446
=l 40,484 31,932 8,552
Jl2 &4l 40,484 31,932 8,552
201 YEt2 Ayl 28,084 26,212 1,872
01 AR 22l ] 25,584 23,712 1,872
OFMES8Y JI2Z&H| 250,0008 = 12€ 3,000
OMEBZE RA(SAX S) 250,0008 = 12€ 3,000
OHHFANRID| A2EFL
300,000& * 7CH = 23] 4,200
Oded4) Xz 50,000& * 10§ ~ 12&€ 600
O=3&H| 8,000& * 229 * 7Y x 128 14,784
02 2324 2,500 2,500 0
oRERZ 2,500
202 044l 2,200 1,520 680
01 2L I 2,200 1,520 680
OHl&4Z22 2yl 2,200
203 Q2 A Y| 10,200 4,200 6,000
01 JI22HYRFAH| 6,000 0 6,000
OZdHMMme =22 6,000




S 2 Xiel A D
M WHSNAH (L R2 M)
chel: D12

_ _ — d =
SN BA(SA) - MRAY - BES 0l &t o e
VTS 4,200 4,200
ORAM2IYRFLHI 350,000 * 123 4,200




